EARAROBEEIERT — 2 N— IBISH —F

20175 7A5H (K) 6mPi5I4E

4R PcE L L YA ECEE R
[A&4£] 1 7% :300,000 ™ ~ 23#%&:60,000H”  33&:4500 M  437&:30,000H .~ 57&:15,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. s 2 | REESE 1:03.6 4-4 38.9 — 2 414 | WWEFR (GLiEE)
i1l vyrrr—x 54.0 & iy | ) A
L:TLrFFEaT71 BII-YN=-FKy7¥ ZhANY =T 4 =V K7 7 — Ltk
“ S8 4t 2 | FEHX 1:04.0 2-2 39.5| — 4 486 | EIUFAI (bimiE)
2 7|7 JIvJS o 54.0 2) (+10) AllEF
KA 399 LYy BET7X/)T754 B Eif
=, _ e 7~ i o2 | BEXT 1:04.3 1-1 40.6| — 1 488 | MARE (LiEE)
3189 T4 —TRAIN—=X> 54.0 (11/2) (0) /S =—d
N:ZAv—bR—1 Bix&/FNT 552 Kiig
S . B2 | Bt 1:04.4 7-7 38.6| — 6 380 | WHE— (imE)
4 3IN=Dh=71> 54.0 2 E) (-a) | S .
L:N—HINK Bk /FoE— 1Bk BT
- s 4 2 | fE4KER 1:04.5 6-6 39.1| — 7 434 | /NEIETT (dtimsE)
5 4| PAT14—=V3 54.0 (1/2) (-6) | BEWIAE .
L:b—trkwLRY B:T7RON-T17h P a3
N &, FETS -04. o 6| — mehiEEl (bss)
N s DEESZ L = 2 B o 55| %96 ° ?_2; ShEE
L:T7 RIS Y L—> B:XHLY1— FERS
PN BiXgA :04. = . — 1EBE%EE (duimE
1 eI T EDPE #2 | BH 1o 28 |04 ° | |
R:74H0 BANIVHTRY YrovA G
. “ B2 | AVHiEE 1:05.8 7-7 40.0| — 8 376 | NIBEN (LimiE)
8|55 | ¥V I77TARRY— 54.0 (4) (+p) |EEEEE .
R:FHYYTIRE B:xATyI1—> FEZF 4
. B AR A E — - — — — — | BREE (e
£k 2 HaZN —/N— K ito2 A51.0 (B4 (—) [e529° o
LT R YT vy Ba—€4 41— BEERS
7 i 2 KEFH = - _ _ _ _ a2 ()
xx| 8|10 FTF¥—F>7 E ¥53.0 (BH) () #iﬂg— i
LN=HINK B:FTUEAT Y~ 27
® 1—F—@EBIERL
13—7-—
2a=5"=
33—F-— 9,(7,8),1,6,4,(3,5)
40—F— 9,7,8,1,6,4, (3,5)
[ N5
B 1 360M 714K 1-7 530M e E 1-7 1,680M JEE 1-7-9 1,450
B B 1 1509 1-9 180H B = 1-7 3,960 EE 1-7-9 22,190
7 290M 7-9 320M B H 1-7 6,620
9 110

ABICOVWTRDTEEERROODE. TR LIV,




